
Age Range: 3+
Weight Limit: 130 lbs

Surfaces:
Grass/Asphalt/Other Hard 
Surfaces

Speed: 2.5 For/Rev
5 Forward

Colors: Blue w/Black Wheels
Intro: 2008

Suggested Retail: $217.99
Box Dimensions: 18.375" x 33.375" x 44.750"
Warranty: One Year Vehicle      

Six Months Battery

N1476
Jeep Rubicon

Power Wheels Advanced

Item Part # Description QTY Item Part # Description QTY
1 N1476-2119 FRONT MODULE 1 29 3800-8724 LEFT HANDLE ASSEMBLY 1
2 3800-7809 BATTERY RETAINER 1 30 3800-8725 RIGHT HANDLE ASSEMBLY 1
3 75840-4409 CROSSBAR 1 31 3800-8551 HOOD LATCH 2
4 B7659-4519 FRONT AXLE 2 32 N1476-2729 STEERING WHEEL BUTTON 1
5 B7659-9419D STEERING LINKAGE 1 33 00801-1620 STEERING COLUMN CAP .354 1
6 SEE # 5
7 00968-2912 #7 MOTOR GEARBOX ASSEMBLY 2 Part # Description QTY
8 00968-2702 MOTOR WITH PINION 2 00801-1262 #10 x 3/4 SCREW
9 00968-2802 #7 GEARBOX (19 tooth) BLACK 2 00801-1460 12v BATTERY 1
10 74020-9839 FOOTBAARD ASSEMBLY 1 00801-1480 12V FUSED CHARGE w/PROBE 1
11 74310-9239 SHIFTER ASSEMBLY - SILVER 1 00801-1503 PW EMBLEM
12 C2390-9799D WIRING HARNESS 1 00801-1566 FOOTSWITCH (plunger type)
13 B7659-4529 REAR AXLE 1 00801-1756 SWITCH CONTROL(shifter)(rocker)
14 74460-2249 WHEEL DRIVER 10 RIB 2 0801-0194 3/16 x 3/4 RIVET
15 B7659-2459 WHEEL (black) 4 0801-0195 WASHER #10 3/16
16 N1476-2289 CHANNEL COVER 1 0801-0198 LOCK OUT SCREW
17 74550-2689 7/16 ROUND/AXLE BUSHING 2 0801-0226 CAP NUT .437
18 K4564-2469 WHEEL COVER 4 0801-0228 SCREW TRUSS HD 8X7/8
19 K4564-2679 HUBCAP CENTER 4 0801-0578 SCREW PAN 1/4-14 X1.5
20 75598-2849 GRILL  SILVER 1 0912-6002 6 X .500 SCREW
21 N1476-9219 SEAT 1 0912-6004 #6 X 3/4" SCREW (1)
22 3800-8551 HOOD 1 0912-8001 #8 X 3/4 INCH SCREW
23 N1476-9229 DASH ASSEMBLY 1 0912-8003 #8 X 1 INCH SCREW
24 B0155-2619 WINDSHEILD 1 3800-7424 CABLE TIE
25 N1476-4239 STEERING COLUMN 1 N1476-0310 LABEL SHEET
26 N1476-2379 STEERING WHEEL 1 N1476-0920 MANUAL
27 75840-9409 KEY HOUSING 1 N1476-9080 PARTS BAG RUBICON
28 74440-5349 SEATBELT LAP STYLE 1 N1476-9279 HARDWARE BAG RUBICON

12/17/2008 8:13

Parts Not Shown

Bold and underlined parts are to be purchased and installed by Service Centers only.  These items may not be sold directly to consumers by Service Centers or 
Fisher-Price.


